fraction/bin

o
&

Ratio to ATLAS

N

2.5

1.5

0.5

0.5

=
W
10O
1O
10

eV pp

Jets

B

Rivet 3.1.10, = 300k events

_
- Momentum fraction z(ATLAS jet fragmentation) =
- m ATLAS -
— Pythia 6.425 default —
- »-- Pythia 6.425 pro-gq20 —
B ol _
"] B
- x e -
— .2 . —
- ¥ 3 .
- .4 i .
- M. _
- ¥ N
— N ]
. - ]
e - +HH - +HH —
I o SRR - S VRS ) 23‘ """ “?‘_

i e i
i g ¥ j
1 1 1 1 11 1 | 1 1 1 1 1 11 1 | 1 1 1 1 1 11 1 | 1 1 1 1 1 11 1 |

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


